BFhE1HE 100m

FiE 114055 +32

1% R :—-1.7 2%H JE, :—-2. 3
R - = L% Q 34vh L R L - == L% Q 3xuh
1 6 123 AE #&E(1) 12 12.69 1 6 124 @A #HIEQ) j(%iklﬂlEE 13.32
2 7 114 FM HBRU1) Eft+m 12.96 2 1 135 g | (1) EmA 13.46
3 56 11 AF #'£0) S4+-— 13.13 3 5 111 4 FEFAN) Bdt+-— 13.56
4 4 135 giA #WA(1) EERE 13.14 4 3 109 E@A &) Z4h 13. 68
5 2 115 @ KEQ) =24+H 13.53 5 4 122 @ HEN) AR 14.08
6 1 124 Fh W) REKHE 13. 68 6 7 109 ki —(1) Bdh 14.11
3 109 ik EKX(0) Z2Fh DNS 8 116 ;IR B#H(1) Z2H+K DQ *FS
8 117 Ad () 2+t DNS 2 109 X EX0) Zdh DNS
3% J& :+0. 7 4%H JE :—0.9
B -y - B B L% Q 2Avh R - - i EE Q 3xuh
13 134 =@ {A(1) HmEM 12.78 1 6 282 AR HE(N) =5 13.52
2 5 146 R [&#(1) HES: 13.53 2 2 111 B BEwQ0) Bdt-— 13.99
3 6 135 R KE(N) HE@EEA 13.72 3 8 104 #JR &B1(1) Z24m 14.01
4 7 282 B @EF(1) =& 14. 01 4 7 115 :FE? %0 241 14.08
5 2 282 F@ &X0) =8 14. 26 5 1 110 #F R S+ 14. 26
6 8 282 My HFEMA) =8 14.54 6 4 104 H#x TEEHKA) Z2dm 14. 28
7 4 134 T EXEA) EMEM 14.99 7 3 282 /8 #EK(O) =B 14.29
1 282 X8 EX(1) =85 DNS 8 5 282 EIF ZFAKRE() =& 15.15
5% J& :—0.7 658 A :—1.4
AR - B L% Q 3vh L AR - - B FLE% Q 34uh
1 6 114 mik ZEN () Zd+m 14.14 1 7 135 EF BEW) EEE 13.95
2 4 122 E@A 3HREWN) &EB 14.50 2 8 114 @)l =#MA) 2H+m 14.12
3 3 116 88 EH(1) Z2F+K 14. 51 3 6 122 8F BH() %8 14. 30
4 5 131 RKX EBE=F() EE— 14. 54 4 4 135 B8 #HEN) E@EA 14. 31
5 2 122 dt#x #HHEHQA) #EH 14.54 5 1 125 #kaAx BmAM() FiE 14. 49
6 1 136 =% #EE() EEER 14. 84 6 2 131 #%H =w—80) HE@E— 14.91
7 8 109 lrO ZEE () Zdh 14. 91 7 5 103 F#@ EE(1) Bf= 14.93
8 7 107 m=rEA % (1) 24+ 15.00 3 136 Kki#g KEB() HEH@EKN DNS
7%H J& :—0. 6 8#%H J&El:+0. 7
I -y - B B L8R Q 3Auh L R E N - B ] Q 3xuh
1 6 135 B4 &I (1) Hm@EEA 14.12 13 125 && #R(1) A 14. 34
2 8 111 £ EEHO) Z2f+-— 14.47 2 5 114 ®F XA() Zg+m 14.50
3 1 131 F) &FA) Em— 14.52 3 2 131 &F Fx() Em— 14.78
4 7 135 HE &KX EEE 14. 56 4 7 111 #EE BANA) BF+— 15.01
5 2 101 RO &EL(1) Bh— 14. 60 5 6 131 &4 {£x(1) E@m— 15.03
6 3 116 ;IR M) =S4+ 15.02 6 4 136 w5 KX E@E 15.09
4 115 WA HEN) Zd4F DQ *FS 7 8 131 AH AHHO) EHE— 15.65
5 117 &HAE BXA) 24+t DNS
9%H J& :—0.7 1048 JE:-1.4
R - B EiE5d Q 2Avh L AR : - B EiE 5 Q 2Avh
1 3 135 B4 B (1) Hm=A 14.70 1 3 109 R&ANl #A) ZBdh 16.12
2 6 135 K WMK(O) E@E 14. 80 2 6 117 @ &) 25+t 16. 49
3 5 110 && &) B4+ 15. 32 3 4 116 At EE() Z2F+K 16. 65
4 2 114 iy BE (1) Zr+m 15. 62 4 8 282 #HE [EAN(1) Z& 16.98
5 7 114 &% HIO) Z5+m 15.72 2 125 = &) BB DNS
4 117 @& MmEQ) 2+t DNS 5 105 [fH #wB# (1) 2thE DNS
8 122 IJ\$$ BEEM) %D DNS 7 282 WIER KE=() =B DNS
11%8 A 1.1
L R R - I (i EE [ P
1 7 123 8K B &2 13. 31
2 5 131 &4k %) Em— 13.90
3 4 119 A% ER(l) BIE# 14. 26
4 8 131 M ®AN) E@Em— 14. 60
5 6 121 s FAN(1) thEH 15. 41
6 3 117 #E BE0) =4+t 15.96
7 2 114 & gEAEO0) Z4+m 16. 32
E2L—X =4%H
1%8 J& :+0. 6 2%H JE, :+0. 9
Bt L=y P - B 4 B L8R b IBtz L=y fov- K 4 B il =PV
1 3 114 g &N (1) 24w 13.65 1 5 135 FF () E&EA 13.79
2 8 110 #A@ RE) S+ 13.98 2 8 122 My HE(N) AR 13. 81
3 5 114 @l F|MA) Bd+4m 14.01 3 3 111 & Bwd) 2f+-— 13.82
4 7 104 H#x+ ) Zdm 14.02 4 6 104 ¥R &B1(1) Z24m 13.83
5 6 119 ;A% @ERK(1) REE# 14.10 5 7 115 ¥% £H#0) Z29+3 13. 86
6 2 282 /hE EEK() =8 14. 11 6 1 109 Lk —(1) Edh 13.94
7 1 122 B8R &8 0) %8 14.14 7 4 282 hE WEA) Z8 14. 04
8 4 282 F# &K1 =& 14. 31 8 2 135 B4 &} (1) EEE 14.10

RITIOIEES ¥/ DNS: X% 5/ «FS:FIEXA— K (R162.7))



BFhE1HE 100m

3%H A :+0.4 4%H J&, :+0. 0
- - R BB ok - - 7R L]
1 5 282 AR HEN) Z8& 13.30 1 3 123 AE &E(1) 12 12. 46
2 4 111 45 BEFO) Bft+— 13.37 2 4 134 5=@E A0 E@EM 12. 63
3 7 124 FNhl Q) RE Kt H 13.48 3 6 114 FM HBR(A) 2f+m 12.82
4 6 115 & KEE() Z24+FH 13.50 4 7 135 gi@A MWA() EEER 12.96
5 1 13 g X&) HE@\EE 13.53 5 5 111 &% ®‘E£01) 2p+-— 13.08
6 3 146 R & (1) HEH 13.56 6 1 124 FxE #BEEN) XHBKtHE 13.10
7 8 109 FEH {Edk() Zdgh 13. 61 7 2 135 Baft /) EEE 13.10
2 131 ‘i H () HEE— DQ #*FS 8 8 123X B 1= 13.38

RITIOIEES ¥/ #FS:RIERXRZ2— K R162.7))



BFE2F% 100m

FiE 1048055 +32

1% A :+0.0 2%8 Jm:-2.7
Bt -y - KA i) FCE% Q 1fvb AR L : T8 o8k 0 3Avb
1 3 101 %% H#@Q) Zg— 11.62 1 6 105 @AX £(2) Egh 12.38
2 4 122 #ok AEEQ) R 11.63 2 5 131 g ££(2) HE— 12.59
3 5 108 i@ @52 2\ 12.19 3 7 122 )IlO %At (2) B 12. 65
4 2 103 FH BEQ) 2= 12.24 4 8 116 gEH M2 (2) 24K 12. 71
5 7 122 WX E/H Q) %A 12.217 5 4 115 =& H£2) 2Z2d+H 12.72
6 6 121 @A EiF(2) ithHA 12. 31 6 3 109 LA £1E(Q2) Zdh 12.79
7 8 121 25 K¥Z(2) @A 12.82 7 1 105 W#@Ss ®MKXKQ) Z22dH 12.84
1 122 gk —2(Q) &8 DNS 8 2 125 lu@m @2 HE 13.23
3#A J&A:-1.9 4% Jm:—-1.9
Bt -y - KA B FC8% Q JAvb B -y ot K4 iR FC8% 0 3Aub
1 5 101 XE #B]zZ28Q2) Z£d— 12.34 1 1 119 F@A £Q [BIE#t 12.90
2 3 131 hH HBMQ) Hm— 12.54 2 4 105 B@A &£ Q2 Z4H 12.93
3 7 122 #hlu RK(Q2) #%H 12.71 3 2 282 KR #HmEQ) =8 13.00
4 1 117 &8 BREQ2) 24+t 12.79 4 8 103 FA (Z3(2) 2= 13.03
5 2 116 /hF REK(Q2) Zd+K 12.89 5 7 105 W &K (2) Z24F 13.30
6 4 111N £#HQ) =d+-— 13. 01 6 6 131 &% BT Q Hm— 13.32
7 8 116 U—F k&2 Zdh+K 13.10 7 3 282 hE ZNH(Q) =8 13.48
6 116 & #MK(Q) Zd+K DNS 5 282 R ZERQ) 2% DNS
5#%#A A :-1.0 648 J& :—-0.8
Lo A : 1 i) FCE% Q 1fvb e AR : T B 0% 0 3Avb
1 1 122 E@H ZE£ Q) #5 13. 06 1 5 116 Tk HF Q) Ed+K 12.96
2 6 111 ux BEHQ Ed+-— 13.23 2 7 11T RK EKQ 25+t 13.37
3 3 109 EHIE #W@K(2) Zdih 13.33 3 2 111 FK BEHQ Z2h+— 13. 51
4 7 117 N2 8B (D) g+t 13.37 4 6 108 Bk mAQ Zd\ 13.57
5 2 110 A #1EQ2) 25+ 13.50 5 1 135 &x #XK(Q2) EmEA 13.74
6 8 109 H¥ #FE(Q Zdh 13.71 3 114 £% B#Q2) Z2dg+m DNS
4 122 HA FEE(Q2) &8 DNS 4 131 & M) HEm— DNS
5 134 st& 5AA(2) EmEM DNS 8 116 g% IHE(2) Z+K DNS
7%8 J& :+0.9 8#A m:—-1.4
Bt -y - KA B FC8% Q JAvb R L : B FC8% 0 JAub
1 2 134 ;B &2 HmEmmM 12.82 1 6 134 @K HHh((Q2) HmEM 13.05
2 5 109 & #BAXQ Zdgh 12.84 2 5 135 RE EHQ EmA 13.74
3 6 134 g £=—p(Q2 HEmmMm 13.28 3 2 123 %% #E(Q) e 13.87
4 7 122 /s EEQ) A 13. 41 4 3 108 =1 =R#(2) Zdi\ 14.08
5 4 108 K&t #RiE(Q) Zd/\ 13.55 5 4 134 Bls FEAXBQ) HE@EM 14.12
6 1 101 &A@ =X£1EQ Zd— 14.09 6 1 111 Al wmASmQ Zd+— 14. 34
3 114 @R FJEXRHAQ L+ DNS 7 7 108 B)Il EH(@Q2) Zd)\ 14. 36
8 115 Il 18X (2) Ed+3h DNS 8 122 Rig HEQ) *%& DNS
9%H & :-0.4 1048 & :+1.0
Bt -y - KA & FCE% Q JAvb L A O : I - & FCE% Q JAvb
1 3 101 /Mg |EQ) ZEdg— 13.74 1 2 282 Ui &€& Q) =8 13.55
2 5 146 #* SAER (2) BEZH 13.80 2 6 125 &)l MKERQ) HBIE 14.88
3 7 122 8@ &K Q) EH 14.23 3 4 119 =8 EF(Q2) RBE 14. 96
4 4 105 #lL4 =F=FE(Q) =241 14. 31 4 5 125 EE #0L(Q2) EE 15.37
5 6 122 tME EHE(2) #B 14.52 5 8 135 ¥ A& (2 E@EER 15.57
1 110 €H #Hig2) =S4+ DNS 3 101 NE OEEH(2) B— DNS
2 116 #Lt Bzl (2) Ed+K DNS 7 119 BBE HEHQ EBEx DNS
8 125 ®H #Hth(2) HE DNS
E2L—X =448
1%#A A :-2.2 2%A & :-3.5
B -y - KA i) FCE% EPV]) L A A : iR 0% =PV
1 5 111 AR 2#Q Zd+-— 12.74 1 4 121 28 K¥E(Q) A 12.74
2 1 125 lu@\ @2 "E 12.92 2 1 105 B@A &£ (2) Z4% 12.95
3 4 282 KR 3RE(Q2) =28 13. 06 3 7 119 FH %£(2) fBiE%t 12.98
4 6 103 FE [F3(Q2) 2= 13.19 4 8 116 hF K2 Zdi+K 13.17
4 7 122 EH #EE(2) &8 13.19 5 2 116 B BEQ) Zdi+K 13.29
6 8 116 U—F FEQ Z2d+X 13. 31 6 3 109 =X #¥BXQ Zdh 13.30
7 2 111 \Ux BEHQ =Z25+-— 13.34 7 5 134 Bl E(Q2) Hmr 13.85
8 3 1B4MA FEH(Q2 EH@Emm 13.55 6 105 WS K2 ZdFH DNS
3%H J& :—0.3 4%8 JA :—0.8
Lo A - 1 B EEELL R : B B SREL
1 4 131 g £ (2) HEE— 12.18 1 5 101 % H#HQ Bd— 11.76
2 8 115 = H£Q2 Zd+=x 12. 31 2 4 122 Wk AR Q) &S 11.85
3 3 122 )IlO %At (2) #&H 12.32 3 3 108 WA @2 Zdi\ 12.30
4 5 116 fgEH @m2(2) Zd+4K 12.43 4 6 103 FH BE(Q) 2= 12.33
5 2 117 &8 ®BEQ2) 245+t 12.62 5 1 101 XE =ZzZ2BQ) Zcd— 12. 36
6 6 131 hHF H=MQ) Hm— 12.71 6 8 122 WX E/ N (Q2) %8B 12.50
7 7 122 &bk BRX Q) &R 12.72 77 121 @A xEEQ thHE 12. 60
1 109 EH £3#E(2) =gk DNS 2 105 @R £(2 ok DNS

Rl (DNS: & i7)



BFhE3&E 100m

TFiE 5HFHOE+ 16

1%H JA:-0.5 2%A A :—1.3
B -y - K4 B ERE Q 2Avb BE -y - £ B 25 Q 2Auh

1 4 114 3/HF EAG) L+ 11.44 1 4 101 54K BXQ) Lg— 12.22

2 3 103 /hx BEEQ Zd= 11.69 2 3 122 hB BAB) XA 12.29

3 6 122 A EAQ) &EA 1. 71 3 7 111 B4 MKQO) Z2h+-— 12.35

4 8 122 5E KREOQ) #A 12.12 4 5 122 8E BI Q) EA 12.36

5 2 117 |/# AKAQ) Ld++ 12. 21 5 6 1220 B3 (3) &N 12. 49

6 5 111 FK #HEQ Zdh+— 12.32 6 8 109 FH #EKXK@) =Zhh 12.56

7 7 282 AH Z=EQR =5 12.35 7 2 122 @ K&EQ #8 13.00

3%H A :+0. 0 4%A J&A :+0.0
L R R - B 25 Q 2Aub B L=y - B £ B 25 Q 1Aub

1 2 119 @& E2h Q) BEH 12.25 1 3 122 %t 15(3) B 13.02

2 5 103 A RFEQ =Zd= 12.35 2 6 107 L@ 5k (3) =Bt 13.04

3 3 12210 $EQ) &N 12.53 3 5 103 {kBE EE Q) Zrh= 13.17

4 7 101 WFE 1KE(3) Boh— 12. 66 4 2 103 AE PERAQ) Zh= 13.27

5 4 111 B —HQ Zd+-— 12.72 5 7 282 3%FE EH®) 28 13.39

6 6 122 A B4 Q) EA 12.83 6 8 124 A% FEFL Q) AHKithH 13.48

7 8 123 ey A4 @) fz 12.87 4 135 £tE BHQG) EER DNS

5%8 & :—-0.7
LR N - iR ERE= S = PPL)

1 2 111 A8 KRB0 Zoh+— 12. 83

2 5 101 (RO WAQ) Zd— 13.10

3 6 101 KRR B{EQ) 22— 13.59

4 3 123 B/ HFEQ) 25 13.71

5 4 282 KB B&EQ) =28 13.79

6 7 107 BEH #ZEQ Zdt 13.98

7 8 122 i@ 5IRE@) %A 14. 11
E2L—X =2%#

148 A :+0. 2 2%A JA :+0. 3
R - OB EoE SNELSL e - I - R o b

13 111 888 #M|AQ) =Zd+-— 12.29 1 4 114 K% BAG) Zhtm 11.63

2 2 109 FH K@) Z24h 12.38 2 3 103 /by BEEQ) 2= 11.72

3 7 122 8B B340 %A 12. 40 3 5 122 EE ARG EA 11. 91

4 8 1220 E&(3) EA 12.53 4 6 122 5E EBEEQ) &N 12.07

5 4 282 AH ZR@Q) =4 12.53 5 7 101 f£2K BXQ) Zh— 12.13

6 6 111 5K #HERQ) Zdh+— 12.63 6 1 122 h¥ wAQ) %8 12.19

7 1 12210 3E®@) %5 12. 65 7 2 119 @& E2ZNQ) BEEs 12. 40

8 5 103 ik RFQ) L= 12. 71 8 8 17 {|/HF KAEQ Ef++t 12.52
BFdE1H& 200m
B2 A LIl —R S2%H

1%H A :-0.1 2%A A :+1.7
L3 R A - I B Hokd Vb (3 VR N - 4 B Hikd BP YL

1 5 124 %A #HEQ) X&%KHHE 26.92 1 3 114 M RE(1) Zrh+m 26. 46

2 4 124 F/N OEQA) K& KthH 27.83 2 5 109 EMH &%) =i 27.50

3 6 282 EER HWEWN) =28 27.90 3 6 114 mE EN() 24w 28.13

4 3 282 FFE KK =H 29. 95 4 7 109 E#r —(1) Brhh 28.72

5 7 111 @& EAN) Zd4+-— 31.22 4 109 % EK(1) Z9h DNS

W boy e K% R ik SRR
1 3 114 F/M HRREA) Ld+m 26.46/+1.7
2 5 124 ZE #WEN) KX&HKHHE 26.92/-0.1
3 5 109 FH f#E&() 2950 27.50/+1.1
4 4 124 F{h EEQ) K ¥ At H 27.83/-0.1
5 6 282 AR WE(N) =85 21.90/-0.1
6 6 114 mpE ZENA) Zd+4p 28.13/+1.7
7 7 109 £# —(1 HEhA 28.72/+1.7
8 3 282 F#@ &K =8B 29.95/-0. 1

LI (DNS: & %)



BFdE28&% 200m

2 A LL—XR ZT4%4R

148 & :+2. 0 2%A m—-1.4
- R /B b mm Ly - KA R L S
1 5 101 % EH#HQ2 =Zdg— 23.44 1 3 121 2B K2 tE 25.87
2 6 115 =F P22 Z£d+h 24.51 2 4 111 maA BH#Q) Z2d+— 26.32
3 3 109 @A £#E((Q2) Zdh 25.19 3 2 103 HF #EX(2) ZEd= 26.53
4 7 116 #H RZ2(2) Zg+K 25.29 4 6 134 AAXR EHth(Q2) E@mMm 26.92
5 2 116 U—F XEQ2) Z£Ld+K 27.03 5 7 109 £t#iE WAK(Q2) Zdh 28.04
4122 ER —E(Q) EB DNS 6 5 103 FE B2 == 28. 41

8 116 #Il & (2) Boh+X DNS
3%A JA :+0. 0 4%R & :+0.9
AR : - i EGE R\ [TV O : R EGE RPI)
1 4 123 =% (2 e 27. 81 1 2 105 @& £(2) ==k 26.00
2 5 101 %E =1EQ Z2d— 28.60 2 7 105 WA AB%((Q2) Z249F 28.43
3 6 134 B ZEAH(Q2) HEM 28.96 3 4 105 #lL =FEF(Q2) Z29F 29.06
7 124 £ %F(2) RE K ith H DQ *FS 4 6 122 R 3RE(QD) *B 29.15
2 111 KR BHHQ) Zd+— DNS 5 3 124 £% #£N(2) RHKtE 30.52
3 115 )il #;K(2) Z9+E DNS 5 116 #Et HEI(2) ZF+K DNS
2ALL—REBE
Bt b=y - K % Fﬁ E Eafi Vb
1 5 101 &8 E#E Q) Zdh— 23.44/+2.0
2 6 115 =; SE (2 =2ht+EH 24.51/+2.0
3 3 109 EA £#E(Q2) Zdh 25.19/+2.0
4 7 116 %8 HME Q) Zd4K 25.29/+2.0
5 3 121 28 KB (2 @A 25.87/-1.4
6 2 105 @& £(2) Smhy 26.00/+0.9
7 4 111 AN 2EHQ Zdg+-— 26.32/-1.4
8 2 103 HF #EX(2) Zd= 26.53/-1.4
BFHPEIFE 200m
24 LL—XR =F=288
1#8 A :—0.8 2%8 & :+0.2
SN - MR IV S CEE T 4 MR £8®  l
15 121 Mk HEEQ) thHE 23.42 1 4 114 3RHF EARQ) 2dh+m 23.77
2 4 103 /b EBEQ) 2= 23.65 2 5 111 548 #MKQB =Zd+-— 24. 97
3 3 122 /A EKXKQ) *E& 23.70 3 6 101 58 #EHQ) Z£d— 26. 40
6 282 2H EHQ) =& DNS 3 109 EH #¥XK@Q) =2dh DNS
7 111 &K #HEQ Zf+— DNS 7 103 B PFXAQ) L= DNS
A2ALL—RBE
B -y - B 4 R 4% Wb
1 5 121 /M4 H#E Q) ithHA 23.42/-0.8
2 4 103 /hs EHEQ =Z2h= 23.65/-0.8
3 3 122 HEH BAXQ) &4 23.70/-0.8
4 4 114 /3 BAQ) Bhtm 2877/00.2
5 5 111 &5 WMKQ) =Zd+— 24.97/+0.2
6 6 101 EA HHQE) Zh— 26.40/20.2
BFPE1HF 400m
SR B
IREL b=y tav- B g RPN
1 3 123 8H #KE(ON) F*E2E 59. 41
BFHPE2F 400m
SR B
B L & MR it ST
1 4 122 &l BK(2) %8B 59.17
2 5 134 Bl E(2) HEmm 1:02.55
6 116 F)Il & (Q2) 1=k aVAN DNS
BFHEIFE 400m
SR P
B -y - B 4 R §Eﬁi Wb
16 121 /hk H#Q) thHE 53. 65
2 4 122 X BN Q) xEB 57.35
3 5 122 #@A HEQ) &R 57.38
4 2 111 AR ®EAQ) EF+— 57.63
5 8 123 2 4 (3) HEBE 1:02.52
6 7 122 K1 HEAQ) LkBS 1:02. 87
7 3 100 RE B#H0Q 24— 1:04. 51
LB (DO & #&/ DNS:R 3B/ «FSIFIER%Z— bk (R162.7))



BFhE214£ 800m
SRR
B -y Fun - _EE % Fﬁ E gﬂfi 3;y|~ B -y tun - _EE % Pﬁ E §Efi ])(\/f,
1 8 111 KA #BEN) Ed+— 2:23.15 8 7 123 #TF #MAE(N) s 2:59.97
2 13 103 2@ #R(1) Eh= 2:23.78 1109 =K K1) Z2di DNS
3 5 132 %£F Mm—#g0) EE= 2:27.03 3 135 WA GE) E®EE DNS
4 6 135 L BEAB() HEEE 2:34.42 4 125 fEK MEIE() FE DNS
5 11 103 st EE(1) Ed= 2:38.79 9 109 &% () BiR DNS
6 12 109 RO EE () Zdih 2:38.85 10 117 #@ FJE;() Zd++t DNS
7 2 103 A% BEWM0) &d= 2:47.71
BFhFE2F 800m
SRR
B -y - B 4 B B Rk =P VIS BB -y Fun - P4 m B 0% VIS
13 117 & X#EQ 24+t 2:09. 96 6 2 116 At BHEK(Q) Ed+K 2:33.31
2 1 108 M KI1E(2) i\ 2:10.22 7 8 117 Kfs BAQ 2Z2d++t 2:33.70
3 5 108 By H=(2) Zd4)\ 2:18.33 8 10 135 X H*#%(2) HEm@EE 2:39.72
4 7 132 vy HEITQ HE= 2:27.66 9 9 123 H)Il K2 X2E 3:25.19
5 4 1071 &8 ED(Q 2dt 2:31.56 6 125 #3# BAE(Q) FIE DNS
BFHEIE 800m
SRR
IRE -y ta- B B FC 8% A0b R -y - KA B Egd =PV
1 6 104 Fgth #4475 (3) Ly 2:15.01 5 8 122 bk WMKAEQ) &ko& 2:28.82
2 4 122 B8R EIEQQ) EAD 2:17.92 6 2 122 Wi KBQ) #5 2:29.07
3 5 101 iEn #EFEQ) Zd— 2:21.30 3 111 A BFEQ) Bd+— DNS
4 7 132 48 BIQ) HEZ- 2:26.14
BFHE1HE 1500m
SRR
IRt ORD - K = g =P Igtz ORD #n'- 4 B B =PV
12 111 h# #mt() Zd+-— 4:53. 65 15 10 125 & &E&F®) BiE 5:48.29
2 14 146 K#E K1) HBEZ 5:08. 04 16 4 136 BHx A1) E@EER 5:53.26
3 23 124 2@ @BK(1) KRHKtHE 5:12.76 17 11 111 F{E =3 (1) Bd+— 5:55.90
4 20 122 TH &) R 5:16.18 18 27 115 @A HF#H(1) Zdh+3 5:57.17
5 12 117 B #HxE(1) 9+t 5:19.13 19 13 125 k& Kk— (1) H4#E 5:58.01
6 21 115 B HFEN) Zd+H 5:23. 04 20 17 109 B+t #th(1) LBdih 5:59.23
7 5 111 EE Z() Bh+— 5:24.85 21 19 135 BF JmE() E@EE 6:08.78
8 3 111 A@A ‘M) Ed+-— 5:27.70 22 1 111 F@ #wz() Bd+— 6:27.31
9 24 111 ®Hix f&KE(1) ZBf+-— 5:34.15 23 18 134 ZF M) HmEmMm 6:29.37
10 8 111 @& #F#0) Zh+— 5:37.74 7 124 8% WAX(1) XBEXMHE DNS
11 16 111 WF™ FHA) ZBd+— 5:41. 31 9 103 HE F(Z(1) =2f= DNS
12 6 134 FNl BE(D) HmEMX 5:43. 65 25 114 @)l R|MWA) B+ DNS
13 22 122 KA @ME0) #&a 5:47.33 26 122 £l BEA (1) %A DNS
14 15 132 /hx SE(1) E@m= 5:48. 00
BFhE2F 1500m
SRR
Wt ORD tov- K4 = i8R =PI} Wi ORD - 4 R G R
117 109 % —E Q) ZdAh 4:27.60 14 19 122 Ik +2(2) %5 5:08. 84
2 16 108 mgk EEF(Q2) =Zdi)\ 4:33.36 15 20 132 >¥v> MEBQ E@m=— 5:10.34
324 131 HFII B/EHQ Hm— 4:33.44 16 7 117 /Ml K& (2) 2+t 5:10.48
4 11 131 AX X2 Hm— 4:47.17 17 4 109 m#F KEQ2) =Zdh 5:17.37
5 21 117 /MEE BXQ Zd4++ 4:47.19 18 8 134 MA E—(2) Zm@mm 5:25.42
6 13 115 lUX B&E(2) 2dh+3H 4:48.09 19 6 105 #5EA HE(Q2) Z5F 5:35.76
7 15 103 B K#th(2) Ed= 4:52.96 20 10 146 &K =EA(2) #HZR 6:25.53
8 9 105 B 1B (D BhF 4:52.97 3 146 M (2 BE DNS
9 2 108 HZA RRE(2) 2\ 4:58.51 5 108 8@ EEX Q) =2d)N DNS
10 25 124 &% EN () X#HKtE 4:59. 40 12 105 EH 'rEl;'ti(Z) EFH DNS
11 22 108 #A BEEAER(Q2) Zh)\ 5:02. 72 14 146 & FEHR(Q) B DNS
12 23 122 #)1| HE#K () &S 5:03. 60 18 105 & B3 (2) Zdr DNS
13 1 131 T8 B8 Q2 HmE— 5:07.37
BFHEIE 1500m
SRR
IRt ORD +'- g B FC 8% A0b R ORD +n'- K 4 [ = B Vb
1 5 132 Rk AEIQQ) EmZ= 4:58. 42 4 3 123 KM EAQ fE 5:13.48
2 1 122 &#lu K3 (3) &5 5:07. 81 2 101 s BHQ) Zr— DNS
3 6 122 KA ENMQ &ka 5:10. 66 4 108 2E £;KQ) Zdg/\ DNS
JL1 (DNS: & )



BFhE284 3000m

R s
W ORD - K4 B 2 vk W ORD - K 4 OB e V)
12 122 B# ERBRQ &8 10:20. 64 5 1 111 B #HEQ2) Z5+-— 11:29. 46
2 7 121 EH E¥E () thHE 10:20. 65 6 4 111 KiF () Bd+-— 11:36.74
3 6 111 E EB#Q2) Zg+-— 10:31. 34 7 8 119 #E HHE4Q RBIE# 12:35.76
4 5 122 K BAQ) #ka 10:47. 48 3 134 MA ¥|(Q2 - HEM DNS

BFhE34HF 3000m

IR P

gt ORD +vv'- B 4 m B CER P2 gtz ORD v~ B 4 B Ek 53 P2
1 11 103 BlFr 8AFR(3) ZEoh= 10:14. 80 3 12 103 5% FEQ) =ZEodh= 11:20. 96
2 13 111 #% HBFEQ) =2dh+-— 10:39. 67 4 14 103 AX HE@Q) 2= 11:44.58
BZFh214E 110mYHC@O.914m)

2 B :+1.2 SR PSS B :—-1.9
B -y fov- 4 B EE 54 Q0 2Avh gtz -y - K4 m B EE V1
1 3 131 e EW#w(O) Em— 21.50 g 1 2 131 $aET EWO) E@m— 23.36

BZFhZ28F& 110mYHI@O.914m)
8 & :—-0.2 SR PSS m:-1.9
RN K - R ERE> SN i PV S RN VERE TS - P B EENELL
1 3 121 €@ HF¥(2) ;#HA 17.08 g 1 3 101 X% AH(Q) Erh— 16. 95
2 6 101 X% HQ Eh— 17.54 g 2 7 121 2B [{FE(Q2) @A 17. 68
4 282 Xl #HEQ2) =88 DNS
5 282 @ik ETRQ) =8 DNS
BZFh238F 110mYHCO. 914m)

TiE & :-0.3 SR A% 1.9
B -y ton- K A T B Gk Q 3fut [N O - 4 m B EE 5 P VI
1 6 122 ;10 EBE3L(3) %8 15.20 g 1 4 122 ;10 B3 (3) &8 15. 77
2 5 121 wKx E®Q) A 16.52 g 2 5 121 ux E@Q) st 17. 11
3 4 121 NEE ;) ;thE 17.711 g 3 6 121 WEE #H Q) thHE 18. 28
3 282 % BEHXE®Q) 8 DNS
BFd234F 110mdJHO0.991m)

2 J&l :+0. 8 SRS JEl:+1. 2
R I - R BHE 0k BE Ly - K& R ESE= ST
1 4 121 ux E@Q) ;thE 18.56 g 1 6 121 lux E(@Q) thHE 17. 44
2 3 121 RiE #®Z@Q) A 19.15 g 2 5 121 N @) A 18.55

BXh®¥ 14 4xXx100m
SRS
Wi L-y F—L tv- EES 28 b W Loy F— o - EES 28 vk
1 628 282 thE @=E=() 53.50 5 8 Zh+— 11 hig EFEQ) 56. 24
YN 4z 282 BFR WwWEN) pFAT 111 w/E BE£A1)
282 T3 &K () 111 Fik B8 Q)
282 mn#w P (1) 111 KA EBEA0)
2 2 HEmE— 131 #% =|—BR () 54.83 6 3 2d+K 116 ;IR fsst (1) 57.03
3/11 131 = B=(1) pTH16 116 ;IR E#H (1)
131 A J/FXA01) 116 K& Z=E)
131 L@ #FE ) 116 =8 E#HA)
3 71 &ch+— 111 W™ EFHA) 55.67 7 5 &d+m 114 X HWRA) 59.80
pFA1T 11 hHF At (1) pTH14 114 1u& FEIA)
111 @\sr #&Fa) 114 b BEA)
111 FEsx &2 (1) 114 #) REWQA)
4 1 Zrh 109 fk EE (1) 56. 05 4 REFKMA DNS
FFH9 109 k3 —(1) IEELLARELN

109 BHE FEE )
109 &&)I1 &)

Rl (DNS: & 15/ a :FEEICL SBBH)



BFhFEHEBE 4x100m

2 A4 LL—X =Z=3%8

1% 2%8
IR -y F—LI Fon' - EER EiE Vb IREE =Y F—L o - EEA EfE =P
1 3 A‘E@ 122 8B #3@Q) 46. 47 1 5 jth|A 121 £ 8h=(2) 48. 54
Y7742 122 HE #BAXEQ) 155 121 @A ®EiFQ2)
122 #%mE K& Q) 121 £@ HFO)
122 $H BE®Q) 121 28 KEQ2
2 4 Edh— 101 @A ZEI(2) 46.78 2 2 %R 122 WA BENQ) 48.99
(Eb /) 101 % B y7° 4z 122 8 J|EAQ)
101 X% H Q2 122 #E %EFQ)
101 XE w|ZB1(2) 122 #HE SRk (3)
3 7 &= 103 ik FRFQ) 47.51 3 8 Ei+H 115 &Il WK (2) 49. 63
FTH3 103 /hs EBEE () PTH15 115 Rk BE (1)
103 {k#E ZEA(3) 115 WA BRE(2)
103 #AK EXQ) 115 =& HIE 2
4 5 thHE 121 WA ZEQ) 48.15 4 6 =8 282 EH Z=ER@Q) 49. 94
155 121 WE Q) YN Bz 282 KB 1&%t(3)
121 4 #EE () 282 EH EQ)
121 Ih#k S Q) 282 % EXEQ)
5 6 Zd+— 1M1 XEB £XE@Q) 48.18 5 71Z8 282 K& #H|E(2) 51.18
P 111 FK #HERQ) YN §z 282 INE KX
111 fRE —E5 Q) 282 FE =N Q2
1M1 88 HMAEQ) 282 L 1% (2)
6 8 £dh 105 BEH &% (2) 48. 31 6 3 Z2di/\ 108 KR# #hiE Q2 51.711
FTH5 105 ##EER #EK(2) pI1458 108 WWHE #5852
105 LiF HE Q) 108 Bl EA Q)
105 EA £(2) 108 BEAR MK (2)
7 2 24K 116 ZEk BFE(Q2) 49.52 7 4 Bgh= 103 FEH B2 52.58
FITH16 116 f8H @2 () P53 103 E# BEQ2
116 U—F &2 103 E# EE1)
116 I KAL) 103 Hf EX(Q2)
3%H A LL—RELES
B -y F— LI fon' - EEL Rk FVIS BB -y F— LI m\— EEL ko P VIS
1 3 &h— 101 &2 K [BX@Q) 49.73 1 A 122 58 #\3 Q) 46. 47
hEb ] 101 S FEQ) Y7742 122 E £AXEQ)
101 fxO ®A Q) 122 %@ XK&Q)
101 37/ 1% (3) 122 4H FE&EQ)
2 22dh 109 &K #K Q) 49.93 2 4 Eh— 101 @A ERQ2) 46.78
FTH9 109 E#IE 3EX(2) pIFAT 101 % B2
109 HE #EQ) 101 X% 72
109 EH £ (2) 101 XE =E2B(Q)
3 6 Eh+— 111 X BH Q) 50.12 3 1 &= 103 ik HRFQ) 47.51
P 111 AR E#(2) FTH3 103 /hs EBEQ)
111 FK BEDN(2) 103 & ZEA Q)
1M1 #EF &EHQ 103 85K FEXQ)
4 4 EmM 134 g £—8(2) 51.20 4 5 5&E§l 121 WA EQ) 48.15
3/14 134 Bl & Q) 15y 121 HE % Q)
134 B ZEXE(2) 121 i #EEQ)
134 =H FAXA0) 121 Ih#k HEQ)
5 7 £&d+m 114 FM HER) 52.37 5 6 &h+— 1M1 X8 £KEEQ) 48.18
pTH14 114 mgk ZENHA) PFHTT 111 BK #BEQ)
114 EF Km) 111 fRE —HEQ
14 3RH# @A Q) 11 28 #MAE)
6 5 KR#ZKithHA 124 E& EXH(Q2) 54.50 6 8 Z2dh 105 EH &4 (2) 48. 31
B A8 4455 124 {£EFF BN (2) FITH5 105 #0#EE0 i#K(2)
124 5% BN Q) 105 (Ll A5 (2)
124 8 FQ2) 105 EA £(2)
8 2+t DNS 7 5 ithHE 121 £ 8h=(2) 48. 54
pFA1T 155 121 @A &EiF Q2
121 €8 HFQ)
121 28 KEQ2
8 2 %A 122 WA BENQ) 48.99
Y7742 122 8 J|}AQ)
122 #E %EFQ)
122 #HE 5¥R3)
=] =
BFoE14 E5Bk
SRS
IR ﬁfat‘ 70 K 4 B 1m25 1m30 1m35 1m40 | 1md5 | F2&k | 35V
1T 1 1FE Bad) 2d+— 0! : ol ! |o : x;0 |x!'x!x| 1m40
2 2 116IR EH 1) Erh+K Xiol |0 o |xixix| o || 1m30
3 16| AK EE() |Bd+X XIXEX| 0o NM
4 116 IR M) EBd+K XEXEX| o NM
5 1M4EHR Ka() |Eoh+m Do Do Do Do Do DNS

R (NM :EEgg7a L/ DNS: R 35)



CETE Py

SR

MRz JTEE o' - K % [t 1m25| 1m30 | 1m35 | 1m40 | 1m45| 1m50 | 1m55 | 1m60 | 1m65 | E2&% | 2*vh
11 123F% MmQ dtz2s = === ool jor o [ xixi x| 1m0
2 2 16/NEF REL(2) Ed+K - o oo xixix| | Co ] 1mdo

4 E *& =

BPh1E EEHH

SR

B ez JTEt Fon - K % B 2m10 | 2m20 | 2m30 | E2&% | 2 Vb
1 2/ 121|@d &) |tuE@ o | |x!xiolx x x| 2m20

11 121@sh 2L (1) M . DNS
4 E *&"‘:

BFHF2 = Bk

SR

Bz ﬁg Fon' - K % i E 2m80 | 2m90 | 3m00 | 3m10 | E2&% | I*Vh
1 112128 3hZFQ) [t xixjolol | |0l | |x/x x| 3m00

4 E *&"‘:

BFHF3 = Bk

SR

Wb ug I i B | 3m50 | 3m60 | 3m70 | 3m80 | 3m90 | ERE | 1AV
1 1121\ —E Q) HhE o | |o ! |xixolo ! |x'x'x| 3m80

FhFE1FE EIE

BFHRF1 = Bk

SR _

e Bl R & OB | 1EE | 288 |3EE8 | B | v R OB | IEE| 288 | 3@EE | R | b
| il siEs w0 [tes M52l x| S04 ) En04 Ly 19 d lme w0 kgkwm | M) x| x| SM2Leo
2 9ol 105|% W) |HEER _gned|_gnzs e 1918 282008 BA) A i T
3 8 1mmE =) |REE 91 omdTl _gmag) el 15 1] N4l BE () | @ebtp o o5
4 lmm wr0) [me= (TR ami0l x| e 1015 202lman mP(H |2 o Ho! o
5 5 135/FR AR() |REE | o) gmaB) e 1712 N4ER KB @b+ 7 70
6 7| 15| FH BHO) |Bh+E e e 18 20/ 282 EA () [ZH % | o5 3%
716/ 2820 EE() |EB _jm3 Ams 1919 282)EM5 FXBO) ZH A %

8 22 19| ER(D) |BE# Lm0| gm0 o 4 11jhiE T (Bt — DNS
9 3 16/Es B Bt Jonsd +ona5| oS o ES @E() Bt DNS

10 13| 1358  mA() |EEE _3m9 3ns9 17 2% EX() |28 DNS
1110 15\EwS  —# (1) |Beht+E _gm82) _Snd1 Snéz 23 109 &K EA(D) @R DNS
12 21) 101fRO (1) |Bd— +g'_"‘7;7 +30"T747

LI (DNS: &

15/ *F0: ARBEHEE L/ W11 EENS

= =
PR

=)

=1




BFoF 24 EE

SR -
L ﬁéf‘f"" K 4 B 1EE | 2EE | 3EB | &% | 1AV I 1 ﬁéf‘ﬂ‘" K % (S 1E8 | 2EE | 3EB | &% | 1AV
[ e . 5m58|  5m51 5mb8 [ . an — — 4mi6| 4mi6
1| 4 121@A EEQ |[HE o7 | a0 | X |y (2 10 7 roojER BAQ B -0.5 | 0.5
= _ 5m29| 5m38| 5m49| b5m49 o 3m60 — | 3me0
2 2| 101|XE w2EHQ |Eeh ol el w0 11 16 135\ BB E£(Q2) |HEE 09 0.9
5m21|  5m40| 5m25| 5m40 n o 3m39 — | 3m39
317 105\ mE EE(Q) |BHE 05| +19 | -03 | +19 1215 135)fF XEQ) HER -0.6 -0.6
4 3 mmR BAOQ |ER SmAl Smol x| | 16lzE mA@ |2at+x DNS
- ~ 4n57|  4m53| 4m71| 4m71 - . -
511 122(xB  EE (D) % s | 28| «29 | 49 [FI 5 103\  HEHE(2) |Eh= DNS
6 9 1248 BABMQ |KHKAME x| ome| | qmee) Amod 10 116828 HE Q) | @d+A DNS
i+ ; 4m08| 4m40| 4m53| 4m53 - =es -
7 6 121|£@ HEFQ) [HE 38| 1.1 ] +0.9 | +0.9 13 1018 B (D) |Zep DNS
8§ 8 100B% FMEQD |=chh — | =] MR s 14 130B% B Q |EEm DNS
R _ 4n07| 4md2|  _ | 4md2
9 12/ 101/NE 432 (2) |Eeh 07| +14 a4
F EIE
BFHE3 5
SR PEE -
L ﬁéf‘f"" K 4 [ B8 | 2E8 | 3B | & | /vt I 1 ﬁéf‘f"” K 4 B B8 | 2E8 | 3B | &% | 1/t
[ PR 5md0| 5m62| 5m37| 5m62 [ PO 4md7| 4m75| 4m61| 4m75
1 2012/t @) |&s 05 | 4101 0.6 | +1.0 § 5 1mE =XQ) HE +0.5 | +1.8 | -0.1 | +1.8
- _ 5m19| 5m42| 5m08| b5m42 —= e s
2 6 1012 K BXE) |Zh 03] 0.2 +25| 09 1115|=2 B3 Q) |Bd+EH DNS
3§ 4w HEQ) (2B Lona0| - Amd7) ,omas|  amoD 3 103K MK |[@eh= DNS
; = o 4m60| 4m59| 4m80| 4m80 o
4 7 101RA MAQ) (B 0.0 | 1.3 | 425 | 425 1 8 101\37" 185 (3) |& DNS
BFraz24 =Bk
IR B
o BR |4 5 = .
VB sz ITLE on' - K # B B8 | 2E8 | 3EB | & | AUh
N 10m61 10m46| 10m61
1 1 122 ié E *\ 2 *'y:-l\ X
EEE ﬂ*ﬂ‘]‘( ) =e +0.4 -0.6 +0. 4
= — 10m28| 10m17| 10m28
2 2/ 116HE BFHIZQ) |& 7% X
FE BHIZQ) 2+ +1.8 +0.5 +1.8
BFhEIF ZEBBk
SR B _
w Bl & o % B | 1EE|288|3EE|4E8 | 5EE | 6EE | R | 1 w Bl ®o# % B |IEE |26\ |3EE| 466 | SEE | 6EE | &2 | vk
1| 6| 103k FFE Q) |z 1?”;7 1(1)m§7 1Sm31 1}1m437 4 5| 82)kE wEQE) [2a 18m84 —?NF 1(1)m:2 1+01m112
7 112fTn 4B |Ee IR T o 4edEn =T Kgxwm | 0] | 1omd oy
J 2 IS=R BHQ) |@RtE x | Lmam et 3 138 ERQ) |xE— DNS
F Fa A 1%
BFHF1 % (4. 000kg
SR PEE -
L ﬁéf‘f"" K 4 [ 1EE | 2EE | 3EB | &% | 1AV I 1 ﬁéf‘ﬂ‘" K 2 (S 1EE | 2EE | 3EB | &% | 1AV
16 128FEH FRN) |dLB2E 8m17| 8m62| 8m95| 8m95 5 4 109|EAN $E(1) |BrhA 5m00 5m08| 5mo8
2 20181\ ILE REN) |HE— 8m38 8m38 6 5 181|FW AIB () |EE— X | 4m08| 4m87| 4m87
3 1| 121|@H &) |tE Tm75 Tm75 3131 /A |EE— DNS
4 7| 105|RE EE() |BhE 6m07 6m07
F Fa A 1%
B¥HhF2 % (b. 000kg
SR =
L ﬁéf‘f"" K 4 [ 1EE | 2EE | 3EB | &% | 14V I 1 ﬁéf‘ﬂ‘" K 2 (S 1EE | 2EE | 3EB | &% | 1AV
12 282\l EEQ) (Ea 8m92| 9m37 9m37 4 3 122| L@ #mEQ) |Ea Tm40 Tm40
2 1| 15[ HE EHEzAQ) |Bh4+E 8m29 8m29 5 5 116|FM B (2) |[Bh+X Tm00|  7m10 m10
3 4 116%E BEQ |BR+K Tm62 Tm88| 7m8s 6 119/%:2 HH (2 BE#H DNS

FL#BI (DNS: & 5/ +F2: 2@ BANERS/ 1 1 AENRERS)



BFhF3F M (5. 000kg)

R B

et EE o' K 4 [ B8 | 2E8 | 3EE | & | /vt I 1 EE o K 4 2} B8 | 2E8 | 3B | &% | 1/t
1115 ®\EQ) |B+H 13m61 13m61 6 9| 103|3IFAF BAR(3) |BH= X Tm90 m90
2 2 121|hiE $BEQ) |MHE 10m63 10m63 1 72828/ EHQ) |EH Tm02 Tm02
3 4 122k BKRQ) |EB 8m30| 9m44 X 9m44 3 122kE WE— () |%B DNS
4 6 19T E2N Q) |BIEH x 8m97 8m97 8| 103U EIE () |Erh= DNS
5 5 282)FEHF EQ) [E#H 8mb4| 8m89 8m89

BFopFiE A% (1. 500ke)

IR R5

et “é o' K 4 [ B8 | 2E8 | 3EE | & | /vt I 1 “é o K 4 2} B8 | 2E8 | 3B | &% | 1/t
1 1) 121h4E $BE(3) A 32m10 x| 32m10 4 5 121RE TFE ) ME x | 15m11 x | 15m11
2 2| 282)BH BQ) B x | 22m21 x| 22m21 3 121)@E ME () ME X X X NM
3 4 121|#E K1) tE X | 16m14| 16m14

RBI(NM :EEdg7%a L/ DNS: R 15)




TFHRFE1HE 100m

Fi#E 11#H03&5 +32
1% m 1.4 2%8 A :+1.5
Lo A - 1 B FCE% Q 1fvb AR R : B o8k 0 3Avb
1 6 123 #@A =A1) 12 13.97 1 4 109 hE WA A) ZdiA 14.52
2 4 115 B FER() Z24+F 14.14 2 6 122 FK $EA) &R 14. 63
3 3 111/ ExE(1) 24— 14.16 3 5 109 K& +t%F(U) Zdh 14. 65
4 2 135 B& %) EmA 14. 36 3 71 122 Rl EF () %58 14. 65
5 8 282 K Z&(1) =8 14. 46 5 2 115 {l #HiE@) 2d+EH 14.74
6 5 282 vru HFIALM) EFAR 14.74 6 8 111 FEg #F(N) Ed+-— 14.79
7 7 282 AR EBFA) =28 15. 21 7 3 115 = FxO) Ed+x 14.97
3%A B :+0. 2 4%A B :+0. 1
Lo A - 1 B o8k Q 3pvb L A U - B L8k Q 3pvb
1 2 121 @A =#H0) #HA 14.37 1 4 282 % HRE(D) X 14. 60
2 3 132k L) EmEm=— 14.94 2 1 122 BR ®HEA) xR 14.94
3 4 116 ZAH fME () Bd+K 15. 05 3 8 135 &K =) EmEE 15.14
4 6 282 &ZlL E#HEA) =5 16. 11 4 3 282 T EHEHM() =& 15.17
5 124 FM #Hxk (1) XK#EKithE DNS 5 2 124 NIl EIE(N) XKEHBKihE 15. 33
7 103 @ EE0) = DNS 6 6 282 EH 51 A 15. 62
8 117 XKig EE() Zd++t DNS 7 5 282 g% *EET(U 2 16. 08
5%H J& :—0.3 65H A :—-1.2
Bt -y - KA i o8k Q JAvb L A O - - & o8k Q JAvb
1 8 122 &1 £Q) PR 15. 11 1 2 282 R #EF() =28 14.52
2 3 11 3FE 20 2+t 15. 35 2 5 134 £ H¥%x() EEm 14.54
3 7 122 pFE FHFEA) #EA 15.44 3 3 104 A #HHA) Zdm 15.08
4 5 115 M} #H#x(1) 2d+3H 15.44 4 6 121 #@ &A1) @ 15. 11
5 4 131 Al #FQA) Em— 15. 47 5 8 123 @A ©PA) FE2EE 15.26
6 2 116 7& RAE() Zd+K 15.76 6 4 116 5 X&£(0) Zd+K 15.78
6 134 hlg [ZE (1) H@EM DNS 7 7 14 HEHE EEON H@EM 15.87
7%8 A :+1.5 8#A J&E, :+0. 1
Lo A : 1 i & FCE% Q 3fvb Bz b=yt K4 =2 FC8% Q 3fvb
1 8 121 E#¥y ZE(Q) A HE 15.33 1 7 111 AR E&(A) Bd+-— 15.03
2 4 122 kEH BEF1) &B 15.58 2 5 131 &k @HRA) Em— 15.29
3 7 109 kB HEN) ZdA 15. 67 3 8 116 & HIF() Zdi+% 15. 65
4 5 116 FE #HHRA) B+ 15.75 4 2 109 K EFA) ZdA 16. 01
5 3 122 bl mEE () A 15.88 3 103 &8 UvHo (1) Zdh= DNS
6 6 116 A EEQN) Zd+K 15.97 4 124 % UV EH(A) REBEKMHE DNS
2 109 2R HsW(1) Zdh DQ #FS 6 117 5% @HEN) 2+t DNS
9%H Jm:-2.4 1048 A -1.1
B -y - KA i B FC8% Q JAvb AR L : B FC8% 0 JAub
1 8 111 giA X%H(0) Bd+-— 15. 69 1 2 116 HiE K&A) Zd+K 16. 63
2 2 131 BE ULEN) E@m— 15.79 2 4 132 W™ &FE@) [z 16. 67
3 5 124 % ZE#H(A REK it H 15.97 3 6 132w BxY0) EE= 16. 69
4 6 116 F@A #MEFA) 2o+ 16.22 4 7 131 EH ®HE1) E@E— 16. 86
5 4 117 KE #Fisk() 2o+t 16. 34 5 5 114 EH =%((1) Z2F4+m 17.48
6 3 109 FmE FEN) Edh 16. 42 6 3 125 F& fHE1) BE 17.64
7 110 hE @BFE 1) 2+ DNS
1148 & :-0.7
L A - 4 i ACE% Q 34vb
1 4 111 (k8 REE() Edh+-— 14.98
2 2 117 FEEA B0 Z2d44+t 16. 14
3 3 114 KXK&ZF #nQ1) 2h+m 16. 27
4 5 116 #El —%1) Z25+K 16.57
5 6 111 #E bHHlEd) Bd+— 16.57
6 7 119 & EPA) EiEs 17.06
E2L—X =448
1%8 A :+0.0 2%8 JE +1. 2
Lo S - 1 B L8k =P L e A : ¥ B FC8% =PV}
1 3 135 #AK Z=FE() Hm@EER 14.87 1 4 111 (k8 REEF(N) Eh+-— 14. 56
2 5 282 BRT ([EHEHA) Z&H 14.94 2 3 122 BR THEA) XA 14. 60
3 6 282 AR EBF1) =28 14.94 3 6 115 =@ ZH«K(O) Z2+=H 14.77
4 7 131 Hxk HFA) E@E— 15.29 4 7 111 B8R BE&JA) 24— 14. 83
5 2 124 /Il BIEN) KREZBKtHE 15.33 5 5 132k LEOA) EEZ 14. 95
6 4 121 ##@E &/ (1) thE 15. 35 6 2 122 &N #&W1) Ee 14.98
7 1 121 E# ZFEQ) M 15. 36 7 1 104 uO £&A) Edm 15.07
8 8 123:@A ©DOPAN) dBE 15. 40 8 116 EAH #MEO) 2+ DNS
JLBI (DQ %k ¥/ DNS: & &/ *FS.ARERA2—k (R162.7))



TFHRFE1HE 100m

3%H m:-2.0 4%H JE,:—0. 8
- - R BB vk - - 7R LD
1 5 122 m&RNl EF ) %8 14.54 1 5 122 #E =A(1) 25 14.03
2 1 282 #tn #F35~A0) TR 14. 64 2 6 111 /vbu EBxR(1) Z2F+— 14. 39
3 4 134 kB Bk () HEM 14.72 3 3 115 &K =) Z2d+F 14. 39
4 2 111 F #F0) Sd+-— 14. 88 4 4 135 BE ?7E() HEEE 14. 62
5 8 109 X& +tEF1) Efh 14. 91 5 8 282 Kif =&((1) =& 14. 64
6 6 122 ;5K #HEQA) B 14.92 6 7 121 @A FE&HA) A 14. 88
7 3 282 F EEIE(D) A 15.00 7 2 109 hE HEH1) Bdh 14. 88
8 7 115 HFN #Hi#EA) Bd+EH 15. 01 8 1 282 &R EF(1) =& 15. 83



TFHRF2F 100m

TFiE 9FHOE + 32

1%

B p-y - K&

135 15 FiZ (2)
282 EF IWE(2)
136 AL #F(2)
131 #8 ZE#HQ
123 @ &
282 [EHA W (2)
282 48 EAR(2)
282 J|H E(2)

CO~NOTTHARWN —
N—OOJOT_ oW

3%

B L=y - K&

109 WF BLF Q)
114 X B%T Q)
122 2F £
111 Bx 75 Q)
116 oA 24 (2)
122 M 75 (2)
282 {H% 123 (2)
124 A& R Q)

~NOoOCITRARWN —
— OO TIN WA

K £
3 117 miE EHEQ)
7100 X2 B (2)
4 101 =& HE(2)
5 123/ #9EFQ)
8 111 JIlE #kF(2)
2 101 Bl #HERQ2)
6 282 KM ()
1 116 ZEBE #HQ)

J

5 58 (2)
3 115 BH BHKQ)
2 EF(2)
7 116 BX BFEQ)
6 111 FER E#(Q2)
4 111 g Fi(2)
8 111 K @Kk (2)

B -y - K4
2 119 g DR (2)
4 109 [RE #&(2)
5 116 HO E# (2
6 111 #EE 2T EF(2)
7 108 X& 2Kk (Q2)
8 125 & HH Y (2)
3 111 &0 ¥ 1vh(2)

E2L—X =4%8

1%#A

Bt -y P - K4

17 £EH Ei&(Q)
131 KfE B4R (2)
122 BRE 75 (2)
1M1 ZRE &AAEQ)
117 Mgk =2
101 =& #EFEQ)
115 B/l &#(2)
109 AR Z¥R(2)

DDOITRWN —

~NOoOCITRARWN —
NW—=OCTHA oo

3%H

B L-y Pa- R
122 5 RFE(2)
110 B IR (Q)
109 WT EAF(Q2)
282 ®IEA EIEM(2)
109 #&iE 5570 (2)
119 #E %2
123 =@ =(2)

114 X B&EM Q)

CO~NOTTHARWN —
NWOSH =101~

]
%EEE
ZH
HEMEN
HEm—
jte

N

3
b

2

>
2

NN

B B

mﬂﬁﬁﬂﬂ
F+ 4@

W B
>H

NG

\.

K%&K&Eﬂ

FOE O O e O e
|+ | =+

B BHER BB

_|_

>t

O O O O O e

+BBEHEEE
+++++HE

“':n_‘l
3]

EHEBEEEH
S++

HO £ O O 2 o

_|_

S e
HHEHRHEBHDEE

O

g
B H BB B0
+mpEs S+ B

HIE o R B R B
i

IS

ot

[ 2t H

[ >k

|+
ot

o |

S+ [ ++
M

B —-1.8
pVI

L8k
14. 64
14.72
14.74
14.85
14.97
15.02
15.217

JE :+0. 6
pVI

ERE

PVl

IAVh

DNS

PVl

DNS

PVl

DNS
DNS

PVl

DNS

DNS

2%H
IBEE -y fun -
117
282
122
109
110
123
282
124

CO~NOTTHARLWN —
— CITOOOON W

4%H
IREE -y fun -
119
122
109
131
117
125
134
103

DT WN —
WN —= oo o1

<k
OO TTRARWN —

117

x
A

IBEE -y fun -
117
111
111
116
110
116
117

~NOoOOCITRARWN —
O ~J OO W TIN

2%8
B -y fon -
122
116
109
122
111
282
124
282

CO~NOTTHARWN —
~NOoONWRAR—=0O

ki
A

%
/? (2

—
=i
a—
=
—~
N
=

*Jilim (2)
=2

KL ()
s (@)

¥ o 0ot CH B g% P

EE%%%M

S
Tat

K 4

HE #BE()
BN EWQ)
B8 M2
X 2K (2)
tH B&KQ)

WA Z4D°Q A

o &7 (2)
BB BEQ

K 4

B&N B (2)
=R RiEQ)
EEH BEQ)
ZiE HEQ)
R+ #E=Q)
B Q)
T 2= (2)
HiF FEXRQ)

K 4

AE FEHQ
HE EBRQ)
alE D Q2)
' #HEQ2)

H_ #Hz 2
HhE FE(2)
=R YD(Q2)

K 4

£F tiEQ)
R/A ZH(2)
=8 MO
ZN B (2)
nax nEo
b E - 30)
WA &< 52
B OEMRQ

T A S -

135
131

16
2 5
3 4 136
4 7 123
5 3 282
6 8 282
17 2 117
8 1

282

£

B F1E (2)
%k =HQ
AL #£BQ)
m_REQ2

HWE EQ
ME @t (2)
KE EE(2)
= FEM ()

+

+
o

>
7

i NFHE 3

>
7

~
bV
’

>+ N e HIE g
g g
o e

H

B 0B 05 B 0B 34
HEBEERBER
+++3%++++H
B B ||

il
a2t Sl o

+HEHRHEBR
+++++++H

|

>
7

RV

63

~

S+
S

B B

~
bV
’

DR Hi B
+

RS REHE

R
0% e )
>t |

>
2

B
+
o

>

o3

7

R B R

JE :+0. 2

o8k Q 35Uk

13.58
13. 64
13.78
13.82
13.91
14.00
14. 11
14.34

J& 0.7
- S P
14.10
14.26
14. 40
14.60
14. 62
15.02
DNS
DNS

JE :+0. 4

o8k Q 2fVh
1

JE :+0. 0

soER Q 3fVh

15.20
15.47
15. 67
15.71
15.99
15.99
16. 54

JE :—0. 1

FER EPI

14.06
14.08
14.22
14.23
14.38
14.43
14.48
14.58

JEm:—-0.5

soER EPI

Rl (DNS: & i7)



TFHRFEIHFE 100m

FiE 3#H055+8

1% JE :—0.6 2%A & :-1.8
B -y Fon - & % Fﬁ- E §Efi 0] ])(y|~ B -y fun - EE % ﬁﬁ E §Efi Q ])(y|~
13 282 8 #£A@Q) =5 12.67 q 1 4 136 &i# E5Q) E@EN 14.07 q
2 6 135 A% ExXQ) HEE 12.90 g 2 3 12 /A 13 0Q) ER 14.19
3 8 109 EE =3 Q) Zdih 13.53 g 3 5 122 MNER HMEQ) A 14.19
4 7 122 v BAFQ) ES 13.56 g 4 7 122 5B EEQ) EAR 14.29
5 2 122 FH ZBEQ) %8 13.76 q 5 8 122 lUA BEEQ) XA 14.50
6 1 115 UK ZHE Q) =2+F 13.82 g 6 6 136 AA E=kLEO) HEN 14. 68
7 4 122318 £EEQ) =8 14.06 g 7 2 136 47 WABQ) HE@EKX 14.79
5 122 Ui #W\EQ) EAB DNS
3%H J& :—-0.4 R s JAm:—-1.2
B -y P - K4 = ERE Q 2Aub B L=y fon - K4 & EiE2S EPV))
1 4 114 B #$3 Q) =Zd+rm 14.90 1 5 135 A% ZEFEQ) EmEA 12.77
2 5 114 #E FEHEQ) =Zf+m 15.09 2 6 282 A #AQ) =5 12.79
3 2 114 UE $BEQ) Zd+m 15.38 3 3 109 @ =3FQ) Z2dh 13.45
4 3 122 8 7oHQ) &EB 15.45 4 4 122 i BFQ) EA 13.78
5 7 114 & #3%EQ3) Erh+py 15.49 5 8 122 FH BEQ) &S 13. 84
6 6 114 EXK =HEQ ZSf+m 15. 74 6 7 115 UK ZHE Q) =Z24+FH 13.90
7 8 11448 £AQ Z5+m 24. 60 7 2 1221 EEQ) %8 13.97
8 1 136 BH F=Q) HE@EAN 13.98
TFHFE1E 200m
R s JA:+1.0
B L-y b KA [ = o5k b
17 282 RKiF ZE#H () =& 30.73
2 5 116 #ZAH #MHE() Zd4K 31.54
3 3 116 &€F HEFN) Zd+K 32.13
4 6 109 F@E FEU) Zdh 34.05
5 4 114 2A (1) ZEd+m 37.00
TFHFE24F 200m
24 LL—R  =Z=2%8
1% J& :+0. 0 2%A J& :+0. 1
Rt -y - KA B B b B -y - |4 = 05k EPVI
1 3 131 %k =B##(0Q H@E— 28.13 1 4 123@ ®BEQ2 ttes 28.58
2 5 124 ¥k HEF(Q) KRZKitH 28.14 2 3 109 @E =M@ Z2dh 29.15
3 4 282 #F WEQ =8 28. 64 3 6 136 RIE HE() HM@EA 29.58
4 8 282 Il FEMMQ2) =8 29.16 4 7 131 KB BKRQ2) HE— 30.17
5 2 124 B3z ER(2) KRHKithH 29. 45 5 8 111 Ik #HFQ2) Zh+-— 30.18
6 6 282 #8 =IO Z8 30. 81 6 2 114 &F FE(2) Z2d+m 31.78
1 103 BJII £ (2) Zd= DNS 5 103 ;58 HEiE(Q2) =Zf= DNS
7 282 BiE EEB/Q) A DNS
2ALL—RBE
LA U I -1 B FC 8% RPN
13 131 %% =0 =H@E— 28.13/+0.0
2 5 124 #E EEF(Q) KXHKitHA 28.14/+0.0
3 4 123 ®HWEFED te2s 26.58/+0.1
4 4 282 HFE WEQ) =8 28.64/+0.0
5 3 109 @@ FHH(Q) Zdh 20.15/+0.1
6 8 282 Bl EMQ2 =4A 20.16/+0.0
7 2 124 B3 ER(2) KR%HKithH 29.45/+0.0
8 6 136 RIE HWE(2) Hm@EAN 29.58/+0.1
TFHEIE 200m
R s JE:+1.4
ANV U - I 1 B o 8% b
1 4 122w BAF Q) %58 27.34
2 5 122 Wy ®H{EQ) #58 27.51
3 2 109 A =FQ) Zdh 27.84
4 6 122 5B EEQ) ka8 28.99
5 7 122 1UH ®HE Q) &A 30. 34
6 8 114 b #3E(3) Zrh+ry 31.78
3 282 B EHQ) =48 DNS

Rl (DNS: & 15/ a :FEEICL SBBH)



TFHRFE1HE 800m

24 LL—R =Z=2%#8
1#8 2%8
Bt -y - KR ] 4 Vb B -y - KA B FEER =P
19 131 B&HF ZBF(1) HE— 2:33.71 13 111 @R ¥EN) Zd+-— 2:45.53
2 1 111 X MEFEA) Ed+-— 2:34.66 2 1 122 XM BEF1) &8 2:48.84
3 5 111 Bl BRHEA) ZEdh+— 2:34.96 3 10 122 #F& Hm() EB 2:49.94
4 11 111 IBFE £#& (1) Z2d+-— 2:37.16 4 8 134 #E AHEM() HE@Em 2:50.00
5 2 111 &8 &) Bh+— 2:38.80 5 11 111 Al ZFE(Q) Z2d+— 2:50. 68
6 7 131 ik 47(1) EmE— 2:41.64 6 6 111 58 BF(1) Zd+-— 2:50.77
7 4 111 & BE(A) Zd4+— 2:42.19 7 4 119 #EH () RBE# 2:58.05
8 3 111 &F HA(N) Eg+-— 2:42.19 8 5 122 \K BB &5 2:58.79
9 8 115 HH LB Zd4+F 2:49.51 9 2 122 = RO A 2:59.85
10 6 104 KX EHE#HE() =Zfm 2:50. 45 10 7 125 E& kZ=(1) GiE 3:17.18
10 124 #H# FHF () KHBKitHA DNS 11 9 135 & ZH(01) EEER 3:18.31
2A4LL—RBE
e -y - KR ] g =P Bt -y v B ] B Vb
1 9 131 BEH EBF(N) EE— 2:33. 71 5 2 111 HFE =) Bh+— 2:38.80
2 1 111 X WMEFUA) EBd+-— 2:34. 66 6 7 131 WAk 47(1) HEmE— 2:41.64
3 5 111 2 | =Zd4+-— 2:34.96 7 4 111 ARt Bk (1) 24— 2:42.19
411 111 IsE X&) Bt+— 2:37.16 8 3 111 5%F RAN) B+— 2:42.19
TFHFFE24F 800m
24 LL—XR =Z=2%#8
1#8 2%8
LA R P - I -1 B o8k 1f0b AR O - ¥ B o5k AUh
112 121 #HF ZER Q) i@ 2:28.32 110 121 &8 WR(Q2) | 2:42.50
2 6 131 2L HEMQ HE— 2:30. 32 2 6 122 BE FUEFQ &A 2:46.86
3 9 131 hix BEQ HE— 2:31.30 3 7 111 WA %*&(2) Erh+— 2:47.68
4 5 136 BB AR (2) HEHm@K 2:32.24 4 1 103 mE H/IEE() Zdi= 2:53.44
510 114 X BEH Q) =ZEd+m 2:34.12 5 3 122 e MWEQ) &a 2:56.06
6 4 135 B BA&F (2 EmE 2:34.77 6 13 122 /K BFEF(Q) #¥u 2:56.99
7 8 136 thH ZTHR(Q2) EEIN 2:35.79 7 4 103 )il BBEMQ == 3:06. 86
8 7 132 8@ #F=Q HE= 2:37.38 8 8 103 1@ FWWH(©2) =Bth= 3:08.78
9 1 121 RE BART{E(Q) tH 2:40.08 9 11 122 X EHEFOQ) #ou 3:09. 45
10 3 124 BBH #=(Q2) X#HKitE 2:46. 62 2 115 #F%F FH(Q) Z29+% DNS
11 11 108 &2 #%E;(2) B\ 2:49. 64 5 119 Jigs (E5(2) EBIEf DNS
2 134 &Lt PR Hmm DNS 9 110 Fa n&EQ) Zd+ DNS
13 122 6@ HFH Q) k&R DNS 12 115 28 #8%®Q) Zd+3 DNS
2ALL—RBE
Bt -y v KA T B g Vb A e - 3 B 4 Vb
112 121 #HF ZER(Q) i@ 2:28.32 510 114 X BEHQ) ZEh+m 2:34.12
2 6 131 & HENQ E@E— 2:30. 32 6 4 135 & #EFE(Q2) HE@EE 2:34.77
3 9 131 hfx BEQ HE— 2:31.30 7 8 136 ithE Z=HR(2) HE@EAN 2:35.79
4 5 136 BAM W) EEA 2:32.24 8 7 132 B #FE(Q) EE= 2:37.38
TFHEIE 800m
RS
Bt -y - KR T B 4 =P Bt -y v B ] B Vb
1 4 122 = E%*(S) =B 2:23.15 4 6 122 F HHEQ) &EoB 2:39.56
2 7 114 EH #5850 Zd+m 2:38.11 5 3 114 BK £HE®Q Z2d+m 2:55.13
3 2 132 LA ,5-5(3) E@m= 2:39.28 5 132 %A ETQ) HEmEZ= DNS
TFHE1HE 1500m
SRR
IEfz QRD +on'- E m B s08% P VIS Itz ORD - K m B 043 IAVb
12 122 mok EE() #A 5:40.34 1122 /b £ 1) %58 DNS
2 3 119 F8 AHF() EE# 6:33.38 4 122 #E FLA) EB DNS
TFHRE2HF 1500m
RS
Rt ORD '~ K 4 T B g b Bl ORD - K 4 T B g =P
117 121 kB %k (2) i@ 5:06. 00 5 13 122 A& E(2 =B 5:45. 45
2 15 111 £@ =EQ) Zd+-— 5:24.71 6 14 121 ¥ HMHH () tHA 5:46.47
316 114 RAX XA (2 Z2d+m 5:33.50 711 121 wmE FEA(2) tHE 5:48.87
4 12 115 F8 &E#MQ) Zd+x 5:41.39
JL1 (DNS: & &)



TFHE33HE 1500m

e - B L% 1f0b
122 Al B Q) &R 5:49.26
111 B+ Q) Eh+— DNS
A :+1.4
L2 - v i FEE% PV
115 %E FEA) Z2F+FH 16. 06
135 BH&E 7% (1) EmE 19. 69
282 ¥R FIRLMD EAR 19. 90
282 k% wWE1) 8 21.97
282 &R E?(]) 8 21.99
J&a :+0. 3
e - B FLE% Q 24vh
123 Bl ER(Q2) 12 18.88 g
282 REE 1ERQ) =B 19.56 g
122 ® £#(Q) ER 19.60 g
116 5K BEQ) ZEf+KX 21.34 q
103 WA #HEQ2) Z4= 23.89 ¢
JA:+1.4
- R B FCE% PV
282 EP% B0 =5 15.35
F—L - EEL FLE% =PV
2 109 k8 HE(Q) 1:00. 05
FFH9 109 K &2k ()
109 /& AlE#H(1)
109 K& +£xEF)
Lt VAN 116 &% F&FQ) 1:00. 37
FFH16 116 &8 RAEQ)
116 F& #3(0)
116 ZAH #xE0)
2+t M7 K& Figk (1) 1:02. 89
PFA1T 17 R vosrQ)
117 BB BHRA)
117 5% E®A)
KRRt B DNS

ARV

SRR
IEtz ORD +vn'- ¢ m B 043 P VIS JE#  ORD
121 122 &h)Il EE Q) %A 5:16. 69 4 922
2 25 122 #HE L Q) B 5:33.28 23
3 24 109 dbR EEQ) Zdh 5:39. 47
TFHhE1HE 100mJ H(0.762m)
FiE B :+0.5 SRR
B -y fon - [ EE Q 350} IERE =Y
1 4 115 %E FEA) Ed+=H 16.10 g 1 6
2 3 282 Htn HFIALM) EFR 20.01 g 2 3
3 5 135 B& %) EmA 20.15 q 3 4
4 6 282 #ER EFA) =8 21.24 q 4 2
5 8 282 g% #E(1) =8 21.62 q 5 17
7 124 8% UVEHF() RHBKMHE DNS
TFHE24F 100mJ H (0.762m)
FiE 2%#H0535 +8
1%#8 JE 0.7 2%8
B -y Fon - B mOE 5% Q J4vh B L=y
1 3 103 ﬁl_] £k (2) Zf= 15.29 g 1 5
2 6 123 =FE =2 TtE2s 19.69 g aR 2 1
3 7 103 485 (2 Eh= 19.78 g 3 3
5 116 IRAK B#i(2) ZEH+K DQ *T1 4 6
4 116 Bk Q) Zdi+K DNS 5 4
SRR A :—2.0
R -y t- KB B nﬂﬁ Vb
1 5 103 £t EBK(Q2) Zd= 15. 42
2 3 123 = =2 TtES 16. 97
3 4 123 By ERAQ2) HEE 19. 01
4 6 282 R K2 =4 19.73
5 7 103 &5 R(Q2) Ed= 19.77
6 8 122 & (2 B 19. 96
7 1 103 luXx #EQ Zf= 20.03
8 2 116 K TEQ Zd+K 21.02
TFHEI3E 100mJ H(0.762m)
FiE B :+0.5 R s
B -y - OB S38% Q 3Avb B -y
1 2 282 EP.% HMxEQ =8 15.18 g 1 5
TFHRE1HE 4x100m
SRR
B -y F—1 Fon - EEL LER PV Btz -y
1 558 282 HRL HFSRLA) 57.10 5 1
YN Az 282 K Z#(1)
282 AR ZE[E& ()
282 #F ERIE(1)
2 6 2ttt 117 #E 21 57.82 6 3
FFA17 17 S3# B0
17 Kig EEQ)
117 Fsh HEE(1)
3 8 Eh+— 111 18R =4 1) 58.25 7 17
P 1M1 ks RKEEFW)
M1 R #FW0)
111 v EZEQ)
4 2 HEm— 131 &5k FHI() 59.25 4
/41 131 B&H EF)
131 mEH UOKE®M
131 @ #F )
RB 00 & B/ ONSR B/ 1 feOEREE5HE L= RI63.20)/ q

RRICELIEBRE R BMESLVUBIRZFOREICL 5BBE)



TFhEHdE 4x100m

24 LL—X  E3fH

148
B -y

1

6

2

32
B -y
6 =

1

F—L
yN 4=

TSN

22

y7 4z

IN 4=

TtEs
¥T99

RH Kt H

ARESVINELLD

R
Y7 5z

Fon -
282
282
282
282
122
122
122
122
103
103
103
103
282
282
282
282
123
123
123
123
124
124
124
124
122
122
122
122

Fon -
109
109
109
109
111
111
111
111
114
114
114
114
111
111
111
111
116
116
116
116
17
17
17
17

.H
%
50 Mk Bt ok Ak ot B
Gﬁ'ﬁiﬁ‘fﬂﬂ%tmﬁiéﬂ‘a‘i ;

~

i %ﬂi (2)
=) 3R (2)
AIE  EEHR(2)
=IO
HE WEQ
EE =2

B AYEQR)
wEe A0
w #EQ
A E<{5(2)
AN =TQ)
RiL E%Q)
FE

#
Hit FERQ)
K FEQ2)

=R YoD(Q2)

25
50. 38

51.86

53.48

53. 51

53.74

54.37

54.87

25
55.12

57.12

57.45

59. 32

59. 36

59.73

2%

B
1

PVl

PVl

N

b=y

5 %

2

1

4

I f=

TtEE
97

REKtH

ARV TLLN

HE—
/M

UE

2%

Y7 5z

fon' -
131
131
131
131
122
122
122
122
115
115
115
115
17
17
17
17
103
103
103
103

134

134
134
134

103
282
282
282
282
123
123
123
123
124
124
124
124
131
131
131
131
122
122
122
122

EEA
Bk (2)
i (2)

BE Q)

gl EED Q)

C10)

B (2)
WE &S 3)

NER ()

TN EF Q)

WA EX (D)

AN B Q)

HE FEO)

w® xR

&
_\iﬁ

r

= 3k

W S 2 N U I 3

E
O
R S N OB S Bt

H

H
LS
s

B

e
B0 A B O e b B S Y
S W B G H L ik ¥ ok

~

%ﬂﬁ‘: 2
=TI EM(2)
BIE  EIER(2)
1B £ Q)
R OIREQ
=g =02

[ #9E(Q2)
WH A1)
[ & Q2
A <52
E&N =¥ Q)
Jihva
HE BEEF(Q2)
K Bk (2)
%k
EF%':T: 5E (2)
2 BHT(2)
ZN B (2)
B E
T2
INETR M)

25
54. 41

54.57

55. 47

55.78

57.55

57.65

S8k
50. 38

51.86

53.48

53. 51

53.74

54.37

54. 41

54.57

]

PV



= Bk

KFh1E &

e

B

g

_J = | =
= | =

m¢ o o o o o [T9) [T9) o

W@ NN N NN =] ==

m 1= 1= 1= 1= 1= 1= 1< 1<

o ~— ~— ~— ~— ~— — — —

o > > > > >

D x| x| x| x| x| ] I N

1=

- > B3 > > >

o o > > >

R o o] x| x| x| =< |

—l oo x| x| x| x| x| <[ |

w |

= o o

—[ofl ol ol o] x| o]l o x| |

o o > >

=2 e I A P ETES

E ol T T

5 ==
£
it
P2

HE—
th+
P
P
-+t
-+t
P

=]
=
=]
=
222
=
222
=
=]
=
=]
=

e

2

& q, e | BN | of _M m W 2| &
Holm | % E m | S | Hu

g ¥ A ® |8 S|
K| e e | B K
K| o e = | e | B &

K =23 — o~ — © =23 =23 ~ ~ (=2

| |l¥iiIzc|elel=zl=z 2

2

_»__mm [aN] w [Te) ~ — < [=>) © ™ (o)

= — — [sp) [sp) [Te) =) ~ [<e)

&

= Bk

KFhoE &

R 35

2

-
~
-
T
| o | olo|lo | w| o|lo | wL|W|W
@ T T 2| 0NN N ===
R E EEEE|E E|E E|E
— | =<
= e I I N IO O
- >
o | | L ] I e
=30 < A O N O ) A
— ["x
o >3
=0 I N N O A
- o 3
o | | R ] I D A s
T B30 S M O S N A
- o >
o o | x| x
= T D N HO O
- o 13 > 3
o || ] SN o A R ISR SR N
el [ R o I N IO I A
- | [=] > > >
o < | <
= R I = 0 3 O A A
- 1 | o > > > B3
o |l ol lall Nial
g o < | x| <
— [T T [ ol x[ oo o x| x| x
7o S R R R A R R e R A
R e e e
— [ I o | | ol o] o] o] o
o | | L
=3 I R R N R A N AN S A
— [ I o I ol o[ o] oo
€
H PP
b+ & R+ |+
;e H 8 888 8 7 8
3 | Hof | 8| ol | B | Eol | 80 | Eol | 80 | Ho
SIEIRIEINRIRIEIEIEIE
P —
Wl BT R KK K8
N AR - AR
B | = 1K
@ |H ko] %4 = =®
E W k| 3| KR B £ K E
! | o o | o | ® |~ =] — | ~]~—
= ~ — — I S — — — — —
R I e e e e T IR IR R I
n—na — N o ™ < o (=2} © ~ [=e]
g = —
ﬁ — N [3e) Sl [Xy) =] =] [==] [==] [==]
m

= Bk

KFh3E &

P VI

GE24

fa

1m25

1m20

1m15

1m10

&

i
o+

=]
=

£
S8 (3)

K

Fon' -

11 114 ILE

B
JIE

e

2

I iz

1

& Bk

LFhie1E

P2

R

2

o
*
e N el - B
RSP PS PP RNT|NT
m :4muoou4mu4 x
E ||
= + +
m
&
o~
m :Mgnoomuﬂ..n?_mu?_u.lmu?_mﬁmﬁ
E |5 o|® —|®% o|s o|la —|a o
= ¥ + T ¥ + T
EM ./ ./ =)
K K Bl
B+ + +| R
5 ¢ |8 B B8
) 4N | B | R ) 8 |
Sy | de | m )W) w
" T I I S )
NI E| O]
IR = KX
T © o~ © — <+ (=23
‘= —_ © —_ o~ —_ S
||| =2
mE C o ® e~ =
oo —t =t
g S R
-
Y
2
oy
I |2wEErl@=EoR B
RISFSFTEC A VSRR
m | x Mvmu4Moo moovm.l
=i < o|m ol e R=1C
) [] ] [] |
IENEEN % |3 B e
| |F &= So|&s
~ + | + ]
m W5M4M7WBMOWIM5
[E |F —|<F oO|F | o|s aNfes —|e5 —
= + ¥ ¥ ¥ ) | |
_”—EM ./
Pl K
B+ |+
# || @@ @ |«
| oE | B BN IN [N
Wlm | e Bl El S
B 4| s 8@ E 8
w® ] e -
RS W) H | oo H | e
AT e | R | B | KRB
T ~ © o~ o~ o~ o~ o~
=z lefSgS|glg g
s|=|=l2|elele s
ﬁﬂ] 2] <+ o~ m m H
=l 71 N[ o» ¥ | ® | © [~
=

1E BN RERS)

ek L/ *F1:

-8

R (NM



RFHF2F EEB

ey

JE i

- OB | 1EE | 288 |3EE | B | v R OB | 1E8| 288 |3EE | B | 1

&
REEET o [ e mo aea | g o9 w9 o8

2 3 124|RBN FEOQ |[K#HIKtA _gm:“ +gmg7 +gm§8 _‘t)m444 10 9o 116[hE HE(2) |Zh4X x +:]3mg3 x +3]m893
3 5 134IRE XEE(Q) |EEM 4m21 4m26| 4m09| 4m26 1 10slsm mEQ lBh= 3m80|  3m75| 3m73| 3me0

+1.3 | +0.9 | -1.8 | +1.3

412 13)PRE BREQ LB _nd9) wi7) a8 3nes 1216 10l LR [BEM w3l awea| [ i3
3m32| 3m92| 3m82| 3m92 2m67|  3m61 3m61

5 7| 109|AR BIR(Q) |BFRA 13 2 1037 #EQ) BH=

+2.1 -1.1 -1.1

o 8 103 —mD(2 |@h= ,oh3s| 3ng7) Smdt) 3nel 115 1 ER B8 Q) Rt Loz Jnzs
16 11ES BEQ |@ht+— el JonE9| In&D ro 19 14 118 SGFQ) |[Bbt— x | ot el
810 142 B(Q) |KEM (B4 | Sni7| _omee|  smsA 4MER BEQ |[Bht— x| x| x M
[ t =
TFHPE3IF EEBK
SR _
R OB | IEE|2EE | 3EE | 2% b mal Bl RO OB | IEE|2EE|3@E | 2% | b
| 1 2mne Fxm o [Ea _gmed| x| qme0) Amed 4 5 1mE RO |Bht+m 20| 0 o5
2 2 1%6|5Em HAKG |HEA Lgre9| gn29| dmdl) Amdi 3 1slem FRQ) |(BP+E DNS
3§ 4i2ns #EFQ [Ea Jnes e8| Jmed
] E@ JL
RFHPF2F ik (2 721kg)
SR _
R OB | IEE|2EE | 3@E | B% | b mal Bl RO OB | IEE|2EE|3@E| 2% | b
11 28218 RBRQ) |EH 9mi1|  9m32 9m32 3 3 1160 E#&EQ) |BH+K 5m74 5m74
2 7 slie HEQ |BRtA 5m42| 6n08| 6m28| 6m2s
FHF Fia h#% ( )
TFHhF 34 fah# (4. 000kg
SR
- - OB | 1EE 2EE 3EE | ®B& | v
1 128228 #EQ) 248 8m18| 9mi4 X 9m14
FrhFdd ARE( )
ZFrhEdE FAEE (1. 000ke
SR _
R OB |IEE|2EE | 3@E | 2% b mal Bl RO OB | IEE|2EE|3@E| 2% | b
| 4i0ER Bx©Q |Bha x| 16m69| 16m69 ] | oz 0@ |me= 15m83 15m83
2 o alEE BR@ [KHKABE | 16045 x | 16m45 R RICIINTIE - YO TP 14m71 14n71

RGO (NM :EEg7%a L/ DNS: R 855/ #FO: ARREHEAG L/ #F2: 2 A BN A BES)



